I признак
II признак
III признак
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          угол А = угол А1

            угол В = угол В1

        Доказательство: 

1)    угол С = 180◦ – (угол А +    угол В) =

 = 180◦ – (угол А + угол В) =    угол С1 

2) угол А = угол А1   , тогда

SАВС  =   АВ * АС             (1)

SАВС       А1 В1 * А1 С1

3) угол С = угол С1 , тогда

SАВС  =   АС * ВС             (2)

SАВС       А С * В С

4)      Из (1) и (2)  

    АВ : А1 В1 = ВС : В1 С1     (3)

5)  так как угол А = угол А1  ,

 угол В = угол В1 , то ВС : В1 С1 = 

     = СА : С1 А1 

6)  Из (3) и (4)

    АВ = ВС = СА
   А1 В1  В1С1 С1А1

то      ∆АВС подобие
[image: image2.wmf]∆А1 В1 С1




   если  АВ = АС =  k
            А1 В1  А1С1 

         угол А = угол А1   ,

   то  ∆АВС подобие ∆А1В1С1


если   АВ = ВС = АС = k   ,

          А1В1  В1С1 А1С1

    то  ∆АВС подобие ∆А1В1С1 
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